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RANZEZET 2 MRREE(IZHONT Z 3
TN A A -
fﬁ Eds H. 28 H. 29 H. 30 R. 1 R.3
g‘;ggt“z i3 i Hep 1 H/N6 Bl 4
HREFEA | 70,8 A | 72,1 HHERA | T1.3 A | 69,1 A | 62,1
T 69. 70. 71. 63.3 | 62.
Sl 66. 6 7% 65.8 1% F 70. 4 1% 40. 2 1% F 63.3
HREFEA | 68,7 MHEHA | 67.6 HHEHA | 69. 9 HHEA | 66. 4 MHEHA | 61,4
ST | 67.3 | 66.3 | 69.5 | 60.7 | 61.
Feagdi] 61.7 % 61.0 % 68. 1 % 37.6 % 64.0
A | 67.5 HHEHA | 66. 0 MHEHA | 68.5 HHEA | 64. 8 HHEHA | 60.5
L | LR - 65.9 | 64.5 | 68.4 | 59.1 | 61.
it Sl 62.0 7% 58.8 1% F 68.0 1% 36. 6 1% F 62.0
e PEEEEA | 2.1 ) HHEHA | 4.5 A WA | 1.4 X WA | 2.7 ) HHERA | 0.7 0
T | 4.9 A 4.8 A 2.3 A 2.6 A -0.7 '
. [EEEEA | 3.3 . HEERA | 6.1 6 HERERA .8 ) HHERA | 4.3 A WA | 1.6 |
M=% 4.6 Tl 7.0 U lEm .4 s 3.6 Tl 1.3 '
HREEA | 73,1 HHEHA | 73,6 HHEHA | 73,6 HHERA | 70. 8 HHEHA | 66. 6
HEHERT |- 72.7 70.1 | 70.7 | 68.1 | 64.
Feagdi] 71.3 % 56. 4 % 58.7 % 57.2 % 53.3
HREIEA | 73,3 HHERA | 72,3 HHERA | 72,4 HHERA | 72,0 HHEA | 66. 7
TRV 72. 68. 69. 68. 64.
Sl 70.5 1% 53.2 1% F 57.7 1% 54. 8 1% F 54.5
e HREHEA | 72,5 HHEHA | T1.0 HHEHA | T1.0 HHERA | 70,3 MHEHA | 65.5
| s - 72.1 67.1 68.1 | 67.0 | 63.
£ i 70.0 T 52.0 T 56. 0 Ve 53.7 T 54. 0
e [EREEA | 0.2 0 HHEHA | 1.3 X HHERA | 1.2 X HHERA | -1, 2 0 A | -0, 1 0
T | 0.8 s 3.2 s 1.0 T lEm 2.4 s -1.2 '
e [EREEA | 0.6 0 HHEHA | 2.6 . HHEHA | 2.6 ) HEHEHA .5 X HEERA | 1.1 0
=5\ 1.3 A 4.4 s 2.7 A .5 U -0.7 '
;P?BE 154
;‘f ESds H. 28 H. 29 H. 30 R. 1 R.3
g?;zg;&' s e 2 W s Bl
HREIEA | 73,2 HHEHA | 68.6 HHEA | 72,6 MHERA | T1.8 HHERA | 73,2
el 68. 65. 73.8 | 65.9 | 71.
Sl 51.8 1% F 52.6 1% F 74.3 1% 42.5 1% F 66. 6
HREIEA | 71,1 HHEHA | 65,9 HHEHA | 69,9 MHEHA | 68.6 MHEHA | 69. 8
FURDI 66. 62. 70. 63. 68.
Sl 47.8 1% F 50. 0 1% F 71.8 1% 40.5 1% F 63.8
HREFEA | 70,0 HHEHA | 64,5 HHEHA | 69,0 HHEHA | 68,0 HHEHA | 69,0
L | LR - 65.3 | 61.1 69.5 | 62.2 | 67.
At Sl 46. 0 1% F 48.0 1% F 70.0 1% 39.3 1% F 62.0
e PEEEEA | 2.1 HHEEA | 2.7 HERERA 7 HEHEHA .2 HERERA .4
wr g - 2.4 | 2.7 3.5 | 2.9 3.
% 4.0 1% 2.6 1% .5 1% .0 1% .8
e PR .2 HEERA | 4.1 HERERA .6 HEHEHA .8 HERERA .2
i 3.6 | 4.3 4.3 3.7 4.
W& .8 1% 4.6 1% .3 1% .2 1% 4.6
HEEHEA | 70. 4 HHEA | 63,2 MHEA | 68,7 HHEHA | 63,2 MHEA | 58. 6
el 67. 62.1 64.2 58.5 | 59.
Feagdi] 56. 8 % 57.8 % 46. 1 % 39.8 % 61.5
A | 66. 8 A | 611 HHEHA | 66. 3 MHEHA | 61.5 HHEHA | 56. 9
ST | 64.0 | 60.0 | 62.1 56.4 | 56.
Feagdi] 52.6 % 55.2 % 45.0 % 36.0 % 56. 0
e A | 65,5 MHEHA | 59.5 HHEHA | 66. 0 HHEHA | 60. 6 MHEMA | 55.5
| LR - 62.9 | 58.6 | 61.5 55.6 | 55.
7 Feagdi] 52.0 % 54.0 % 44. 0 % 35.6 % 56. 0
. [EEEEA | 3.6 . HEEEA | 2.1 ) HHEHA | 2.4 ) HHERA | 1.7 ) HHEEA | 1.7 )
T | 4.2 s 2.6 Ul 1.1 Ul 3.8 Ul 5.5 '
e [EEEEA | 4.9 A MHERA | 3.7 . HHEHA | 2.7 ) WA | 2.6 ) HEERA | 3.1 5
=5\ 4.8 s 3.8 s 2.1 s 4.2 T lEm 5.5 )




REFF/ DR FZIZW T X MRELEIIZ DWW T

— ERBEENDOEE —
AR | R B 7 H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R. 1 R.3
FEIENT 79.6 66. 6 64. 1 69. 8 70. 8 71.0 63.3 62. 4
4 TR 77.5 64.0 63. 1 67.3 66. 3 69.5 60.7 61.9
=R
. THORE R CREEERT) 102.7 104. 1 101. 6 103. 7 106. 8 102. 2 104. 3 100. 8
u FEIENT 72.0 65.7 69. 7 72.7 70. 1 70. 7 68. 1 64. 0
& T 69. 8 64. 2 70. 4 72.7 68.5 69. 4 68. 6 64. 2
H Fe¥ CREIERT)  103.2 102. 3 99. 0 100. 0 102. 3 101.9 99. 3 99. 7
EFEROWRH (REFZ2100& L7255 OKBE OHFE)
110. 0
-0 /\//\\/\
100.0 — {54 (FE T )
95.0
90. 0
H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R 1 R. 3
BHEBORN GREFE2100E L7254 ORBET D)
105.0
) \\//\\/ T
95.0
H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R 1 R. 3




RN P ERFESZET 2 MREERLIZONT

— ERBEENDOHE —
AR | R B 7 H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R. 1 R.3
FEIENT 79.5 71.8 66. 8 68.9 65. 4 73.8 65.9 71.9
1 TR 76.9 67. 1 63. 4 66.5 62.7 70. 3 63.0 68.6
=H
. "ROFESC CRSEERT) 103.4 | 107.0 105.4 | 103.6 104.3 | 105.0 104. 6 104. 8
% FEIENT 77.3 61.5 71.0 67.7 62. 1 64. 2 58.5 59. 2
& T 72.6 55. 6 66.5 64. 0 60. 0 62. 1 56. 4 56. 7
o
Tl OEEERT) 106.5 110. 6 106. 8 105. 8 103.5 | 103.4 | 103.7 104. 4
EFER RN (REMNZ100& L7258 ORBER 0E)
110. 0
105. 0 //\\
100. 0 — e ¥ (RS EERT)
95.0
90. 0
H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R 1 R. 3
BERORN RHFFZ2100L L72BE OB ERT OFEE)
115.0
110. 0 /A
105. 0 \\ . — B8 (5 2EHT)
100. 0
95.0 !
H. 25 H. 26 H. 27 H. 28 H. 29 H. 30 R. 1 R. 3




